BBk e g A

BT B i
g 52 G

L1V R 45 5
Jin 72 5 5 3 =

a N

= Neat = -
=il
e == Y BRI B B R R

ST
i, 8. 1

-

. Y,

BN

9> JVBTE A PR W)



CREVRE Vil

4 5 Iel

HWEZZFEWES A= —HILFE > REEBGEEFHNR425700,0000C (ZFF =4F 0 AR¥337,600,00000)
WA R4)26.1% o 4 SR A0 5 2 IR A 38 02k 7 RE 7 B R S B 00 AR AL A S 0 T 5 T I o

A BB AN N R B 141,100,00000 (ZFF =4 © ARK120,600,0007C) > B E4E EFH417.0% B F 0G0 £ 5 k¥
FEE N B PR AN AT SR B AR G TR -

W B EAER AR AT R 90,100,00000 (—EFEE =4E ¢ AR 178,700,00070) » B EFEBE A 14.5% o &R R 0] J4E L 5
#21.2% (ZFEEZAE 1 233%) > WEFEWDEI21% o R RIEARZF B ANRE0.22370 (ZFFE=4F 0 ARH#0.22870)

5 [ol g

“RERNAE MR > /G T B E T mC A
5 THE B FES > B — e R AT M L > BUR MK B R
JE B TEVE ) o Wb 8 TR LR BN B RER - BT A - BOFIRE
BB e B RRE o TRE - BEEW A & EEIEH 8 BUE M

TR R MR BRGS0 » SR s ER A WA TR L > A
ESTEAT(RN-SEX - 31 ONGIEX-& 3 ¥ NP i Fob PN
425,700,0007C 1 A [ %90,100,0007C » #2 X 4F 3 = 4 il 2 26.19%F0
14.5% o R SE 00 U 15 4 00 58 B 1 — R GG it o BLSF A0 20 A
mr

— -~ BERE I BB Al R T R ST S
= G

A R T PIAET A G HAR I ROH 0 B = b i E AR
B> o IR U R O E REBR R T A050% o IRREREZAR - BT

10



BBk e g A

SR EL SRR 5 ORI T AR 7 A AT ASCIRE ] > S 7 5 A 6 A A A R R [ B o S B IR D I
G o T RE > P B AL B T DA A T 2-3K 0 4R TSI BT

A2 il

T AR TR AR A [ AR RO I = e R A AR AR - H
T > I 1 ) S B LS G B 5 > I DL — R R AR
WL o AT ME1R - SRR - 1 H o BRI AR
8 T A KA PO 7 R o A DR A B Rp IR >t o) SRR B AR
UL BT R T i AMBL o SIS (A R > SR AR I RS I T
7 B A R0 4 B A i S0 S O o B Y R A Ol A B B
B A B LI H/NAL - AR AR A B9 557 o KR SR T B AR
TR0 ) 5 A AFE B 5 A % O fe g o g LB o Y R R AR A
A5 EMV RS S5 09 9 1 0 it R Hh i S5 4% o W A A S I A AR
JRAH o

BEMT :

TR S 2 L S A R o TR A S R e A — OR B B AR o T B R B A T 50 9l
&S BAQRREEGRHE - DR T2 80 E R - b2 h W55 B - 208 T (AT 8 ENRI B A R
— B R A LB A OB D - RS SEE o BT AT A R REAIR - R E > ARE
i SR ST > R IR O 00 5 A ED R M DA B AR R RE R MR o A > TR SR B RRCEN IR R o A ER I 1
TOR R > TR L R B B (AT D SR o D SR R 5 ROR AR R T D A A A R
A RFEARIRAR o 5% EI B € 086 T D W 5 10 6 o 2 7 A

JVBTE A PR W)



CREVRE Vil

S RME AT BAR R B R R BB AR BRI

A ZFFWAE > G RR 2 — BB 0 SRR R Bk - A BUE R A KR BT H R S R T 2 R A A
Bt > TR SR P B2 R RE D s AT 4R - R

— o SEEAT N BB N T AR R AT O o B T AT 10% A9 JEURE > (L E RY B R SRR RE D R A
o BB M RE D AF W T T A S B AT AT o = AR AR R 0 2 R o R B A R S AR
fih

Z TeA M R — L B AL > (ETTHE — 40 T T 2 SR o B AT DA S A R D T35 B — S ORI RO T A B
o 4R R S T E R B MR

4]

= EEWBEMER R

e REER MEEANA REERNTEREN -

BEAN A% S B A T AR 5 pl R A 4R AR M A8k i Y A E E )

o SO RS P B EURE RS S E AT BT AR T o RS P B R
(Y (L ME S T > BSCAS 5 1 B R A DA 280 %

5 R R A > 3R R R AR

SRR VO A A o 75 58 A B 00 ) 3 [ — 4 3 £ A6 97 9 B o [ — BT AL T — {18 4920,000°F- 77 K A I -
P R AR A M > 0 A B WK A RE R LR B A o A B AR R - BB EER S BEBEMYE
PR H BB S

T A SE T B R > IR BRI

A ZF VU4 > T AN AR T S o A R R SR R R OR o DUH AN BE S A A A RO T (AL
AR W R o SEMEETISHAKBIOESEBFEHAR > 5 7RG Sl PR & S - SRR
I Sg A P 49— G M9 B 5 AR S MR R o B AR SR T B O SR E BRI R AR A & A b



BN

13

BBk e g A

Tho [IRF > $2 5 3605 N BB F WO BRH; » n oR B A ] A0 S5 0 > RRAR B B E IR Ry (AR > (AR T A
TR o P IS L AN - R BB RS E

TyAh > W A MR REAR TT M AEAT RN B B A LR BN > R R R PR Bl TR AEREFUR
BT ER S E T A BB AN (58 — 4 0 R S 1 7 A7 € 10 1Y R 42 L AR AR PO o — P 4R e A (£
P 5 A T B 3R R £ M

Hij 5

B B AT FE MY AR ACTE A K BUSE F A2 (R T AR I TR B0 I B B R AR R A B 0842 o 2 T HF 5 AR KB 1 E
KAty > o BB AR E WS > FRAUMURE RE M B2 AR T o TEORMS AT

BB RN R

SR T 2 A IR A 3 R AR B R R
Ko w8 > WERACENEEDE - BEEHRE B HIE
MEE - RRIDR AR > BW TR hHEERTREERSY) - [
R > R 0 T2 ) O AL A D oy B A R VR AL (T B Y
BE TR > v 00 40 6 EU AL = 1 6 1 S R A1 T 20-
30%7E 4 - AU T B RAR o RIS OR AR
SEAL B RO ~ DURBER SV - SEMER) T 2K - RS SRR AMBL - B gk
B RO BT T o B BRE AR E R LS~ RIER - RN A R
e — 7 B I R TR Y SE AU R

E=t

SR T 5 | R ST B (R ) A AR SR LR B AN T RE D4R T T 4940% > B T MEART 452 I 48 2 5 ) 66 PR A - A K R R B
(AR EERE T (LM & 5 R BN TS5 1 ) BE SR T o A PR A3 SR S 0 T T el (R 3wl (A A2 A
THRB LT -

JVBTE A PR W)



CREVRE Vil

= (R B I A

A R 0 R S AR o LA S > R S e T S o S A S Ty SR S R R > DA g R AR A O
(9 S5O RE ~ i T T L S AR R O T M P MR - RIRIERA S > SO B BT S 0 Y RE
KRR 5 T2 i B 117 355 T A

PRI - AR50 —4F - S R0 0 A0 B AR B0 - 08 s B B o i s (L RS > P38 — A K > RBoRRoR
FCE R AL o

=~ R R B % E R B 4R T

5 AR T RO REL 199 A 7 2 A5 0. %9.20,000°F- 75 K 2 2 BB A A% 0 35 ~ R0 R M T o A O A A~ T
{1 JE 250 4 W G [ 2 5 (R ORF 2 AR O R — A B % A B RS 20 (R [, o [ A R A R T
SR A E R E R BRI R o LR E > R EEEEEREE SRR HKERTFENEEmME -

TESERS SN BRI S5 > = A it B 76 L P TG G A RO — 2R T HATC BT R B 70% £ 4 -
P A LG R o B P AR — — K = R R E AR - H R BRI RIEA AR EHERE
B LG T ) R AR R — R = A A R AR o R B AN L TG R B R B KA B B T 4R T

P~ A B R S R PR SR B R R T A A SR R PR

AT TR > REE P TR RN - B B RGO R EET 8 ARE
J5 BR AN [R] £ AR5 5 -

—HEUA > EERGHRREC BTG A IR > B I% 5 G R A A Oy A TS SRS R
SRR KA S o [ > BB T BN B i BRI AT SR ACH I SR IR - B AT SER AR AR R R AT
PI10% A LR 3R - AR SR AR B A B AR AT M R AR > TG BB AT SRR o TEIEE T o AR IR 2 AT
F R R P A A AT



BN

15

BBk e g A

i Bl e S O

AR S T — JC DAL P B E AR B B U B~ TG D R RO A5 AR B S LA A SR AT SR A A SR AT SR FLE R R A A

BWEZZWNEL _H=T—HIEFE > AEEKRBEEEENB &5 5 AR %87,600,0000C (ZFF =4F : AR
71,600,00070) © A “EENEF A=+ —H - AEBNHE S LESSEDH R ANRE241,200,0007T (ZFF=4F 0 ARW
164,200,0007C) ©

MZFRENEFZH=1—H > AREHERBLHEL A RE80,800,0007C (ZEFEF =4« AR¥44,000,00070) > AIF 7R —
ENEED Eﬁ;ﬁ RATE A 40 AR 150,000,00000 (ZF%F =4 © ARM37,000,00070) ¢ BL &% &) A R 830,800,000 [ 7]
B SR (R FE A ) o A AR AT BRI B A M R 5,580/ 5,841 JHEHE o RAT R AL AR A AHERIEER o

BTEENEFHZ o AEEPORB LR (R EEHRHAENLR 3.6 (CEEZE 3.6) > MAEMNE
AAMEE GEEE R G E B2 N4 516.6% (ZEE =4 1 13.3%) o

SEAMEEJEBR T 5 > phy A SR KR 20 20 5 3 LU R W Bt e SR o T IR A Lt A T 5 % [ AR L A R R 2 > SR SE T
0 NI I B 7R 4 1l By L ARG o T A 4 1 S SR 2 R A o B T EL RSB b T AR

SRR
AN I 4 R B W 4
B AR

ATERERNES A= —H > AREEABEDZE - BB LRERE M KRR B RERNBEERE AL AR
2,400,0000C (—FE =4F © AR M31,400,00070) > 1M B F A AFT 45 W 5 40 AR %9,900,00000 (—FEE =4F © ) -

B A A

BEERNFET A=+ —H > T AEBNE S ME BRI AR %4,300,0000C (—FFE =4 0 AR ¥765,00070)
WP BRRE LRI EREH -

AR

ACEFNEF A= AEEEEEMERRRAR (CEF=F ) -

JVBTE A PR W)



CREVRE Vil

Pt s H I8

AR EANBR By AN B O —FE = H O H AR ST T i 47 82,800,0008 57 Ik 43 A B L3 AR - 4 488,400,000
JC (FRZE IR 49 N R %593,700,00070) © FIr /53K T3 R LA T % -

#140,000,000%% 7T (1155 Ji4 £ A 1R ¥ 42,400,0007C) F I B 78 A< B2 1B 7 17 46 0 9 25 8 TR 10 A4 7 s it B U B 7 7 AR 5
o #15,000,000% 7T (K45 A 47 N B H5,300,0007C) A E A< 4 7 17 48 17 FA A 728 i it o0 - ot e ol 2 78 it

o #18,000,0009 7T (FH 5 A ) A R 18,500,0007C) F I 2 oy 5 1t A= 8 R iR A1 S R AA

o %)31,400,000%5 70 (455 4 49 A R #633,200,00000) ATEAEE —REEES 0 K

o FRFEA14,000,0009 JC (FH5F 7 47 A B H4,300,00070) #% FE 2 5 B 85 R S 6 RSB RE O > b E R S FF AT
THE+— HHEARITIEEL -

T A5 5 TEL R B R B T B A R A R AR ON T A TR A0 47 PR R I AR et —

A AL AL 0,651 70 72 540,000,000 B4 (i —ZF WA 7S H 52 K0 E 45 i 15 3 I 48 4924,500,0009 7T (A1 AR
#26,000,0007C) - H = £)20,000,000% 7T () A R #21,200,00070) 56 F 7 £ L0759 15 Bk B 0 Bt g > B R — B E4ET
H=1—HHEABITEER o Fris 28 548 824 404,500,00088 75 (49 A R %:4,800,0007T) T 1 1F A 4 3 i & 1 & 45 o

1’ B Ko B 4 BUR

RZFBENES A=t —H o AEMBEAI4TH (CFFZE  3448) B H o AL E 2117 8 0 L A0 0§ 8 3£ B
PN A BOR o NI BAEE > B T2 A (MR EFEMS) 45 AR¥10,700,00000 (- FEFE =4+ AR ¥8,700,00070) -

ASE B BT MR RE G B (Tazst#l)) - #EDABLE) RSB A S S B HAREEER M ER - 8F “FFNFE+ A =+—H
IEAERE » RO AIARGE 5 & T8 B 4% 130,000,000 17 1 i B -

16



